Note: (1) Control Agent initial here: if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing									
GISD BID #11-12-11 REFRIGERATED & FROZEN FOODS									
Purchasing Agent: Mr. Demetrious Giovas, Director of SNP Box No.: Phone Number									
Bid Number: 11-12-11	Advertising Date: October 14, 2011	Opening Date: November 15, 2011	Time: 2:00 p.m.						
Description: Refrigerated &	Description: Refrigerated & Frozen Foods								
Purchasing Agent:		Witness:							

			Shamrock	Foods		Sysco New	Mexico		Zanio's Foods			
ltem	Description	Qty	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	
1	Bacon precooked	25	\$40.93	.136/1.023	\$1,023.25	\$35.13	0.0117	\$878.25	\$37.68	0.13	\$942.00	
2	Bagel Lenders blueberry sliced	15	\$16.05	.222/.111	\$240.75	\$15.79	0.0219	\$236.85	\$17.63	0.24	\$264.45	
3	Bagel Lenders Cinnamon sliced	15	\$15.56	.216/.108	\$233.40	\$15.31	0.213	\$229.65	\$16.33	0.23	\$244.95	
4	Bagel Lenders plain sliced	15	\$13.38	.185/.080	\$200.70	\$13.13	0.182	\$196.95	\$13.85	0.19	\$207.75	
5	Beef fully cooked	50	\$74.43	.826/.275	\$3,721.50		N/B	\$0.00	\$54.11	0.54	\$2,705.50	
6	Ground beef	1000	\$159.20	1.99/.124	\$159,200.00	\$147.57	1.845	\$147,570.00	\$2.18	2.18	\$2,180.00	
7	Sliced roast beef	20	\$69.22	5.768/.360	\$1,384.40	\$64.71	5.393	\$1,294.20	\$52.94	4.41	\$1,058.80	
8	Beef breaded stix	1200	\$24.18	.151/.162	\$29,016.00	\$16.93	0.106	\$20,316.00	\$17.20	.11/.97	\$20,640.00	
9	Beef steak patty	2000	\$64.94	.541/.27	\$129,880.00	\$56.40	.418/.171	\$112,800.00	\$74.72	.37/2.5	\$149,440.00	
10	Breakfast blueberry stick	500	\$20.98	.374/.131	\$10,490.00	\$20.62	.368/.129	\$10,310.00	\$18.82	.34/2.85	\$9,410.00	
11	Breakfast wrap	150	\$33.80	.450/.145	\$5,070.00	\$33.11	.441/.142	\$4,966.50	\$33.81	.45/3.1	\$5,071.50	
12	Burrito Beans & beef	200	\$45.53	.615/.103	\$9,106.00	\$47.85	.6685/.101	\$9,570.00	\$52.41	.55/5.75	\$10,482.00	
13	Burrito egg & sausage	100	\$35.64	.495/.143	\$3,564.00	\$43.39	.452/.141	\$4,339.00	\$39.23	.44/3.75	\$3,923.00	
14	Butter	200	\$74.07	2.057/.128	\$14,814.00	\$70.07	2.336/.146	\$14,014.00	\$83.49	2.32	\$16,698.00	
15	Buttermilk biscuit	750	\$20.38	.203/.101	\$15,285.00	\$19.95	0.199	\$14,962.50	\$13.25	0.18	\$9,937.50	
16	Carrot slices frozen	250	\$15.88	.661/.041	\$3,970.00	\$18.75	.625/.039	\$4,687.50	\$11.68	0.58	\$2,920.00	
TOTAL	PRICE											
TERMS	i de la companya de l											
DELIVE	RY											
FOB												
IN-STA	TE PREFERENCE NUMBER											
<u>I</u>		•	-					-		•		

Note: (1) Control Agent initial here: if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing									
GISD BID #11-12-11 REFRIGERATED & FROZEN FOODS									
	Purchasing Agent: Mr. Demetrious Giovas, Director of SNP Box No.: Phone Number:								
Bid Number: 11-12-11	Advertising Date: October 14, 2011	Opening Date: November 15, 2011	Time: 2:00 p.m.						
Description: Refrigerated &	Frozen Foods		Results Sent:						
Purchasing Agent:		Witness:							

			US FoodSe	rvice		Dee's Food	Service				
ltem	Description	Qty	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total
1	Bacon precooked	25		N/B	\$0.00		N/B	\$0.00			\$0.00
2	Bagel Lenders blueberry sliced	15		N/B	\$0.00		N/B	\$0.00			\$0.00
3	Bagel Lenders Cinnamon sliced	15		N/B	\$0.00		N/B	\$0.00			\$0.00
4	Bagel Lenders plain sliced	15		N/B	\$0.00		N/B	\$0.00			\$0.00
5	Beef fully cooked	50		N/B	\$0.00	\$71.25	0.79	\$3,562.50			\$0.00
6	Ground beef	1000		N/B	\$0.00		N/B	\$0.00			\$0.00
7	Sliced roast beef	20		N/B	\$0.00		N/B	\$0.00			\$0.00
8	Beef breaded stix	1200	\$24.60	0.16	\$29,520.00	\$17.25	0.1078	\$20,700.00			\$0.00
9	Beef steak patty	2000	\$43.88	0.49	\$87,760.00	\$62.32	0.5193	\$124,640.00			\$0.00
10	Breakfast blueberry stick	500	\$21.39	0.39	\$10,695.00	\$20.88	0.3728	\$10,440.00			\$0.00
11	Breakfast wrap	150		N/B	\$0.00	\$33.15	0.442	\$4,972.50			\$0.00
12	Burrito Beans & beef	200	\$48.54	0.68	\$9,708.00		N/B	\$0.00			\$0.00
13	Burrito egg & sausage	100		N/B	\$0.00		N/B	\$0.00			\$0.00
14	Butter	200	\$34.95	1.17	\$6,990.00		N/B	\$0.00			\$0.00
15	Buttermilk biscuit	750	\$20.80	0.21	\$15,600.00	\$20.33	0.2033	\$15,247.50			\$0.00
16	Carrot slices frozen	250		N/B	\$0.00	\$14.60	0.0456	\$3,650.00			\$0.00
TOTAL	PRICE										
TERMS	5										
DELIVE	RY										
FOB											
IN-STA	TE PREFERENCE NUMBER										

			S	hamrock Foo	ds	Sj	sco New Mex	ico	Zanios Food			
em	Description	Qty	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	
11	7 Chicken & biscuit sandwich	500	\$63.83	.638/.182	\$31,915.00	\$61.78	0.618	\$30,890.00	\$64.11	.64/3.5	\$32,055.0	
18	Chicken breast nuggets	1500	\$17.54	.007/.103	\$26,310.00	\$12.87	.050/.074	\$19,305.00	\$12.74	.05/.6	\$19,110.0	
19	Chicken breast pattie	500	\$21.73	.353/.100	\$10,865.00	\$11.88	.229/.074	\$5,940.00	\$12.14	.23/3.1	\$6,070.0	
	Chicken drummette	300	\$74.02	.185/.185	\$22,206.00	\$65.45	0.164	\$19,635.00	\$76.36	0.19	\$22,908.0	
2	Chicken pot pie crispito	1500	\$43.32	.601/.185	\$64,980.00	\$43.21	0.6	\$64,815.00	\$43.19	.60/3.25	\$64,785.0	
	2 Cinnamon glazed french	300	\$32.17		\$9,651.00		0.375	\$9,561.00	\$32.84	.39/2.9		
	Cookie dough choc. Chip	600	\$24.88		\$14,928.00		0.077	\$14,838.00	\$24.60	0.08	. ,	
	Cookie dough oatmeal	500	\$24.88		\$12,440.00			\$12,365.00	\$24.60	0.08	. ,	
	5 Corn Whole	200	\$25.46		\$5,092.00		17.193/.054	\$5,158.00	\$15.40	0.77	\$3,080.	
	5 Corn beef slice	10	\$29.49	2.949/.1843	\$294.90		4.299/.269	\$429.90	\$53.61	4.47	\$536.	
	7 Corn on the cob	500	\$19.74		\$9,870.00	\$21.49		\$10,745.00	\$17.21	0.18		
	Cream cheese	10	\$21.56		\$9,870.00			\$10,745.00		0.16		
	Cream cheese strawberry	10	\$21.30		\$213.00	-		\$173.70	\$16.00	0.16		
	Croissants	250	\$21.87		\$218.70			\$171.20	\$10.00	0.10/73		
-											1.2.7.1.2.	
	Egg patty square folded Egg bag frozen scrambled	200 50	\$30.19 \$36.96		\$6,038.00 \$1,848.00		0.114 1.443/.090	\$6,008.00 \$2,165.00	\$32.16 \$35.59	0.11	\$6,432. \$1,779.	
	Bigg-colby cheese omelet	50	\$50.73		\$2,536.50			\$2,103.00	\$58.70		\$2,935.	
	Egg hard boiled egg	10		.183/.110	\$2,550.50			\$269.30	\$18.39	1.84		
	5 Frozen peas & carrots	500		.789/.049	\$11,845.00		24.056/.075	\$18,040.00	\$15.46	0.77	\$7,730.	
	6 Green beans frozen	500		.846/.052	\$12,690.00		18.695/.058	\$14,020.00	\$16.46	0.82		
31	7 Ham sliced	500	\$40.61	3.384/.211	\$20,305.00			\$16,290.00	\$41.33	3.44	\$20,665.	
38	B Home made pita	100	\$28.88	.240/.085	\$2,888.00	\$23.64	0.197	\$2,364.00	\$24.48	0.2	\$2,448.	
39	P Italian vegetables mixture	750	\$21.05	.877/.054	\$15,787.50	\$24.25	1.011/.063	\$18,187.50	\$18.89	0.94	\$14,167.	
40	Juice fruit grape	4000	\$13.97	.199/.033	\$55,880.00	\$13.55	0.194	\$54,200.00	\$15.75	0.23	\$63,000.	
4	Juice fruit orange pineapple	4000	\$13.11	.187/.031	\$52,440.00	\$13.39	0.191	\$53,560.00	\$15.57	0.22	\$62,280.	
42	2 Juice fruit orange	4000	\$14.98	.214/.035	\$59,920.00	\$12.98	0.185	\$51,920.00	\$15.08	0.22	\$60,320.	
43	3 Mixed vegetables	750	\$24.07	.802/.050	\$18,052.50	\$35.48	1.183/074	\$26,610.00	\$15.64	0.78	\$11,730	
44	4 Muffin english	400	\$23.30	.161/.080	\$9,320.00	\$15.02	0.209	\$6,008.00	\$22.85	.16/2.2	\$9,140	
4	5 Pancakes whole grain	300	\$14.54	.100/.088	\$4,362.00	\$14.62	0.102	\$4,386.00	\$17.31	.12/1.2	\$5,193	
40	5 Pastrami slices	10	\$58.68	5.868/.366	\$586.80	\$49.56	4.956/.031	\$495.60	\$4.69	4.69	\$46	
47	7 Peas	400	\$25.67	.855/.053	\$10,268.00	\$26.78	.893/.056	\$10,712.00	\$16.11	0.81	\$6,444	
48	B Pizza breakfast	200	\$41.78	.326/.102	\$8,356.00	\$42.38	0.331	\$8,476.00	\$42.71	.33/3.2	\$8,542	

			L	JS FoodServio	e	De	e's FoodServ	vice			
em	Description	Qty	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total
17	Chicken & biscuit sandwich	500		N/B	\$0.00	\$60.67	0.6067	\$30,335.00			\$0.0
18	Chicken breast nuggets	1500	\$27.75	0.06	\$41,625.00	\$17.75	0.071	\$26,625.00			\$0.0
19	Chicken breast pattie	500	\$27.75	0.06	\$13,875.00	\$21.24	0.354	\$10,620.00			\$0.0
20	) Chicken drummette	300	\$72.07	0.18	\$21,621.00	\$70.59	0.1764	\$21,177.00			\$0.0
	Chicken pot pie crispito	1500	\$42.90	0.6	\$64,350.00	\$42.08	0.5844	\$63,120.00			\$0.
22	Cinnamon glazed french	300	\$32.83	0.39	\$9,849.00		0.1262	\$9,657.00			\$0.
	Cookie dough choc. Chip	600	\$25.35	0.08	\$15,210.00	\$24.67	0.077	\$14,802.00			\$0.
	Cookie dough oatmeal	500	\$25.35		\$12,675.00		0.077	\$12,335.00			\$0.
	Corn Whole	200	\$18.48		\$3,696.00		0.0466				\$0.
-	Corn beef slice	10	¢10110	N/B	\$0.00		N/B	\$0.00			\$0.
	7 Corn on the cob	500	\$23.75		\$11,875.00	\$19.29		\$9,645.00			\$0.
	Cream cheese	10	φ25.15	0.23 N/B	\$0.00		0.200) N/B	\$0.00			\$0.
	Cream cheese strawberry	10		N/B	\$0.00		N/B	\$0.00			\$0.
	Croissants	250	\$15.95		\$3,987.50		N/B	\$0.00			\$0.
		230	\$13.93		\$5,987.30		N/B	\$0.00			\$0.
	Egg patty square folded Egg bag frozen scrambled	50	\$30.84	0.12 N/B	\$0,108.00		N/B N/B	\$0.00			\$0.
	B Egg-colby cheese omelet	50		N/B	\$0.00		N/B	\$0.00			\$0.
	Egg hard boiled egg	10		N/B	\$0.00		N/B	\$0.00			\$0.
	Frozen peas & carrots	500	\$19.95	1	\$9,975.00	\$13.74	0.0429	\$6,870.00			\$0.
	6 Green beans frozen	500	\$19.95	1	\$9,975.00	\$17.84	0.0557	\$8,920.00			\$0.
37	Ham sliced	500		N/B	\$0.00		N/B	\$0.00			\$0.
38	Home made pita	100		N/B	\$0.00		N/B	\$0.00			\$0.
39	Italian vegetables mixture	750	\$24.90	1.25	\$18,675.00	\$19.87	0.062	\$14,902.50			\$0.
	Juice fruit grape	4000		N/B	\$0.00		0.1861	\$52,120.00			\$0.
	Juice fruit orange pineapple	4000		N/B	\$0.00		0.1925	\$53,920.00			\$0.
	2 Juice fruit orange	4000		N/B	\$0.00		0.1918				\$0.
	3 Mixed vegetables	750	\$18.99	0.95	\$14,242.50		0.0463	\$11,115.00			\$0.
	Muffin english	400	\$36.90		\$14,760.00		N/B	\$0.00			\$0.
	Pancakes whole grain	300	\$14.86		\$4,458.00		N/B	\$0.00			\$0.
	5 Pastrami slices	10		N/B	\$0.00		N/B	\$0.00			\$0.
	7 Peas	400	\$19.95		\$7,980.00		0.049				\$0.
48	8 Pizza breakfast	200	\$44.09	0.35	\$8,818.00	1	N/B	\$0.00	I	1	\$0

			S	hamrock Foo	ds	Sy	sco New Mex	ico	Zanios Foods			
tem	Description	Qty	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	
49	Pizza righ angle sausage wedge	600	\$38.28	.398/.085	\$22,968.00	\$38.38	0.4	\$23,028.00	\$38.35	.40/5.4	\$23,010.0	
50	Pork rib patty	200	\$22.55	.425/.141	\$4,510.00	\$34.20	.342/.135	\$6,840.00	\$34.17	.34/2.5	\$6,834.0	
	Potato skin on fries	800	\$17.49	.583/.036	\$13,992.00	\$16.39	.546/.034	\$13,112.00	\$17.30	0.58	\$13,840.0	
52	Potato round	500	\$17.82	.594/.037	\$8,910.00	\$16.39	.546/.034	\$8,195.00	\$16.47	0.55	\$8,235.0	
53	3 Sausage	250	\$26.25		\$6,562.50		2.073/.130	\$5,182.50		2.1	\$6,290.0	
	Sluggers jumbo bbq	1500	\$23.43		\$35,145.00		2.288/.143	\$34,320.00		.42/3	\$33,015.0	
	5 Soup boston clam chowder	5	\$25.85	12.925/.100			N/B	\$0.00		2.73	\$163.9	
	5 Soup golden broccoli cheese	5	\$26.45	13.225/.103	\$132.25	\$28.34	2.361	\$141.70		2.49	\$199.3	
	7 Soup italian style	5	\$29.62	14.81/.115	\$148.10	+	N/B	\$0.00		N/B	\$0.0	
	Soup chicken w/egg noodles	5	<i><i><i></i></i></i>	N/B		\$30.20	2.517	\$151.00		2.49	\$198.9	
	Soup Mexican style chicken torti	5	\$43.87	10.967/.144	\$219.35	\$31.72	2.643	\$158.60		N/B	\$0.0	
	Soup mediterranean style	5	\$10107	N/B	\$0.00	<i><b>Q</b></i> <b>2112</b>	N/B	\$0.00		N/B	\$0.0	
	Strawberries	100	\$64.13		\$6,413.00	\$45.83	1.175/.073	\$4,583.00		7.04/6.65	\$4,221.0	
	2 Tac-o w/egg cheese & turkey saus	200	\$48.96	.510/.159	\$9,792.00		.321/.153	\$13,502.00		.52/3.1	\$9,924.0	
	Turkey sliced smoked	150	\$47.61	3.967/.247	\$7,141.50		4.115/257	\$7,407.00		3.54	\$531.0	
	Uncrustable peanut butter grape	100	\$35.90		\$3,590.00	\$33.23	0.462	\$3,323.00		.48/2.8	\$3,457.0	
	Uncrustable peanut butter honey	100	\$37.33	.518/.185	\$3,733.00	\$36.23	0.503	\$3,623.00	\$36.76	.51/2.8	\$3,676.0	
60	5 Uncrustable peanut butter straw	100	\$37.42	.519/.185	\$3,742.00	\$33.23	0.462	\$3,323.00	\$34.57	.48/2.8	\$3,457.0	
-	7 Waffles	100		.068/.077	\$981.00	\$13.44		\$1,344.00		0.14	\$2,017.0	
	Wheat rolls	300		.113/.056	\$6,147.00	\$19.90	0.111	\$5,970.00		.11/2	\$6,126.0	
	Yeast	50		2.61/.163	\$2,610.00	\$44.64	2.232	\$2,232.00		2.37	\$2,365.5	
	) Yogurt Dannon or Yoplait	600		.366/.091	\$10,554.00	\$10.75	0.224	\$6,450.00		0.24	\$6,822.0	
7	Zucchini squash	450	\$31.74	.881/.055	\$14,283.00	\$36.23	1.006/.063	\$16,303.50	\$15.07	0.75	\$6,781.5	
			_									
				1								
				1								

49 F 50 F	Description	Oth									
50 F	Diana ai ala ana 1a anna an ana da a	Qty	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total	Per Case	Oz/Each	Total
	Pizza righ angle sausage wedge	600	\$38.87	0.41	\$23,322.00		N/B	\$0.00			\$0.0
51 F	Pork rib patty	200	\$35.48	0.36	\$7,096.00	\$34.15	0.3415	\$6,830.00			\$0.0
	Potato skin on fries	800		N/B	\$0.00	\$17.40	0.0362	\$13,920.00			\$0.0
52 F	Potato round	500		N/B	\$0.00	\$17.40		\$8,700.00			\$0.0
53 8	Sausage	250	\$21.35	0.27	\$5,337.50		N/B	\$0.00			\$0.0
	Sluggers jumbo bbq	1500	\$23.76	0.66		\$23.08	0.1442	\$34,620.00			\$0.0
	Soup boston clam chowder	5		N/B			N/B	\$0.00			\$0.0
56 \$	Soup golden broccoli cheese	5		N/B			N/B	\$0.00			\$0.0
	Soup italian style	5		N/B			N/B	\$0.00			\$0.0
	Soup chicken w/egg noodles	5		N/B			N/B	\$0.00			\$0.0
	Soup Mexican style chicken torti	5		N/B			N/B	\$0.00			\$0.0
	Soup mediterranean style	5		N/B			N/B	\$0.00			\$0.0
	Strawberries	100		N/B	\$0.00	\$49.54	0.0793	\$4,954.00			\$0.0
	Tac-o w/egg cheese & turkey saus	200		N/B		-		\$13,250.00			\$0.0
	Turkey sliced smoked	150		N/B			N/B	\$0.00			\$0.0
	Uncrustable peanut butter grape	100		N/B				\$3,524.00			\$0.0
65 U	Uncrustable peanut butter honey	100		N/B	\$0.00	\$36.25	0.5034	\$3,625.00			\$0.
66 U	Uncrustable peanut butter straw	100		N/B	\$0.00	\$36.68	0.5094	\$3,668.00			\$0.
67 V	Waffles	100	\$19.54	0.14	\$1,954.00		N/B	\$0.00			\$0.
68 V	Wheat rolls	300	\$20.45	0.12	\$6,135.00	\$20.20	0.1122	\$6,060.00			\$0.
69 Y	Yeast	50		N/B	\$0.00		N/B	\$0.00			\$0.
70 Y	Yogurt Dannon or Yoplait	600		N/B	\$0.00		N/B	\$0.00			\$0.0
71 Z	Zucchini squash	450	\$40.76	1.14	\$18,342.00	\$25.18	0.0437	\$11,331.00			\$0.
											1